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r ∈ [−1, 1)
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Kr =
{

(x1, x2, x3) ∈ R
3 : x2

1 + x2

2 + x2

3 ≤ 1, x3 ≤ r
}
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f : R
2 → R, f(x, y) = exp(x + 2y),

g : R
2 → R, g(x, y) = x2 + y2 − 4� � �º� �/�p���.�5���.�

M =
{

(x, y) ∈ R
2 : g(x, y) = 0

}

,

N =
{

(x, y) ∈ R
2 : g(x, y) ≤ 0

}
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Q = {(x1, x2, x3) ∈ R
3 : 1 ≤ x1 ≤ 3, 1 ≤ x2 ≤ 2, −1 ≤ x3 ≤ 1}� � �º� �/� � � �«� ¦��Æ³ � �5¢­¦¨� · �
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M :=

∫

Q

ρ(x1, x2, x3) d(x1, x2, x3)

§ · � �/� � �.��4 �«� � � � ¤ � �5¢@¦ S = (S1, S2, S3)
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Si :=
1

M

∫

Q

xiρ(x1, x2, x3) d(x1, x2, x3), i = 1, . . . , 3,
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dz
((z + 1) exp(−z)) = −z exp(−z)
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{

(x, y, z) ∈ R
3 : (x, y) ∈ [0, 2]2, z = xy2 + y3

}
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{

(x, y, z) ∈ R
3 : (x, y) ∈ [0, 2]2, z = 0

}
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y = x2
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∫

B

√
xy d(x, y).


